
Effective July 18, 2025

Item Order Part # Description List Price

1
105428-1 Cover, Gray $93.96

105428-2 Cover, black $82.08

2 PP-5572 Cover Lock, Nut & Keys $17.00

3 MS-1039S Mag Switch (surface mount) $88.00

4 PP-5567 9 Volt Battery $12.00

5 102606 Battery Retainer $2.94

6 100783 Cylinder Hex Nut $9.00

7 102655 Cam Assembly Kit $42.12

8 102627-15 8-32 Truss Head Screw $1.24

9
102656-1 Circuit Board Kit, Standard $120.96

105838-1 Circuit Board Kit, Weatherized $248.69

10 102789-1 Screw, SMS, #4 x 1-1/4" PFH $0.35

11 102715 Backplate $12.47

12 102665 Magnet Kit $10.21

13 102607 Magnet Locator $1.47

14 102633 Hardware Kit (includes keystop parts) (not shown) $29.16

Parts List 
EAX-500

Modified July 24, 2025

Your particular part or configuration may not be shown:
Contact Detex technical support at 800-729-3839 (option 2)

Order Part # DescriptionItem

2
3

PARTS BREAKDOWN

1

102606
100783 Cylinder Nut

Battery Retainer

105428-1 Cover, gray

1

101321   Page 2

102655 Cam Assembly Kit

4

4

102627-15 8-32 Truss Head Screw

PP-5572 Cover Lock, Nut & 2 Keys
MS-1039S Mag Switch (surface mount) (see STEP 8)
PP-5567 9 Volt Battery

102656-1 Circuit Board Kit, Standard

102789-1 Screw, SMS, #4 X 1-1/4" PFH
102715 Backplate
102665 Magnet Kit
102607 Magnet Locator

5

Locate this component
for Step 7

Mortise Cylinder with
standard Yale cam required

(sold separately)

.715"

.313"

7
8

6

9

10

12
13

11

105838-1 Circuit Board Kit, Weatherized

2

3

5

6

7 8

9

10 11

12

13

102633 Hardware Kit (includes keystop parts)(not shown)14

EAX-500SK
installation only

105428-2 Cover, black


